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The figures in the margin indicate full marks
for the questions

1. Answer the following questions (any ten) :
1x10=10

S PR el il (R it wedt)

(a) What is the problem of ‘choice’?
‘o Tl 7 )

(b) Distinguish between a firm and an
industry.
%t 2fSd BiF G5 Sroi Aes < fady
4 |

(c) Mention one feature of capitalism.

sfferama b1 Taf¥®y Sred w4 |

(d) State one feature of economic goods.
adtifos Andbnee W51 TafiRy By 4t
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(2 )

(e) What is cross demand?

it o 9

() Write the demand function.

IRl Tt forat |
(99 What are complementary goods?

AT AR 69

(h) Draw the demand curve of Giffen goods.

P sTrza siftwiEst e =4

() What is, the shape of perfectly inelastic
supply curve?

o SfEfeReT @R SRR 759
() What is producers’ surplus?

AR g8 59

(k) Define opportunity sets.
A ST et i |

() What is income consumption curve?
oy Terrel @91 59

(m) Mention the concept of market demand.

o1 B 4Rt Sy |

(n) Distinguish between stock and supply.
TGS AI$ AMTA &S ofyefap Rty w1
(o) Define imperfect Competition.

aed dfowifier sm fim
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( 3 )

(r) What is derived demand?

ogo i 67

(@) State one character of labour market.

AN IS G5 @Ry Ty w4

() What is meant by property rights?
e w32 5 @he

2. Answer the following questions in short
(any five) : 2x5=10

S AR Y Geq (R i «iiobt) ¢

(a) Distinguish between positive economics
and normative economics.

e SfAfe wie pfae wLNfes Ao
ol fodfa 41|

(b) What is economic problem?

gftfes T 2

(c Write any two features of basic
competitive model.

@fr dfewPromee W R @ 1o
cafgy forar |
(d) Why is the cross elasticity of demand

for substitute goods always positive and
negative for complementary goods?

sifevta fods fafomvee R swm Raw A
owae e oe dfdas AR wge
YD 2N 7
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(e)

(9)

(h)

(1)

0)

( 4)

If price elasticity of demand for milk is
equal to unity (=1) and if at the price
of ¥40 per litre a household demands
40 litres milk, then how much milk

will be demanded at the price of ¥60
per litre?

T NI SR w1 RfeRee @1 TR =
oiF I afs it M 7w 40 T @S
a5 “fmere 40 FoiR MW v =/, oW
ofs Rl MW W 60 TR T MW
pifme A feam 2397

Why do two indifference curves not
intersect each other?

TOE ReTF @R [ 9w @ W7

Why is the supply curve of labour
upward sloping?

;R @ @ S =0

Distinguish between fixed and variable
costs.

fy w1 SRR T i Bef

Mention two government policies to
enhance competition in the market.

@RS Aot 3w 3T o i s S
T

Why do input demand curves shift to
the left?

TAMA SifE @4 R Qs sl W?
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( 5)

3. Answer the following questions (any four)

(@)

(b)

(c)

(d)

(e)

A23/447

5x4=20

What is price rationing? Explain the
Impact of price rationing on the market.

1+4=5
T ST 1§ W PP QI IEA
SIS Yol B FE, PRI

How does the profit motive drive the
market system? Discuss. 5

e SRR (P J&IF J9 “ifbifere
FET? SIEGA 9|

Explain the characteristics of a mixed
economy. S

Fry wefifes cafigprR I 41

What is price mechanism? How does

i 1 allocate resources?
price mechanism Lvacs

mmﬁs?wmﬁmm
freqq 3a?

What is budget line? H'(‘)w do ct;)tll::ig‘:
in income and prices affect the g

l "2 fl.‘-S
line? Use diagrams.

gl
AEs (a4l {9 G wle 199 o{jqa e ::4 j"i«

: q
el auie deliae aq? 104 qjae!

( ’l“rll ()l)tbr)



( 6 )

() Show that a monopolist always operates
on the elastic part of the demand curve.
Why? 3+2=5

ST @ GIWHHN FPIN G B (@I
RSy Sxebre A 03| 792

(g) Establish the relationship between
average cost and marginal cost. Why
does MC curve cut AC curve from
below? 3+2=5
TS W AF AIRF 7T TS T4 o 41 |
AT IW @R IT | @I 7 g o
&1 FE?

(h) Explain the various factors determining
the demand for labour. S
a9 o e a1 Rfsa sieemz.
41|

4. Answer the following questions (any four) :
10x4=40
T A9ERA el (R qoiet wifdey)

(@) What are the fundamental economic
problems of an economy? How can
various economic problems be explained

through the use of production possibility
curve? 4+6=10

447 aA1fee (Mers weeafiom snpiipryz f 6?2
fafen edftsfon stpiprjee Beows sgraie!
(ARI4 S (DC1Cq Ayl pfaq 4149
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(b)

(c)

(d)

(e)

(7))

How is efficiency of market linked with
producers’ and consumers’ surplus?
Explain.

TR T WiE (SfeT Bged e T6IAq
THOR & T AR? P =4

Explain the various factors determining
individual and market demand.

Jere v wiE TER vRAR Rz
JIRYT 41

What is substitution effect? Explain the
concept of substitution effect with the
help of Hicksian and Slutsky method.

10

10

1+5+4=10

Ao Retie 52 Ry oI 45 ~rafo e
AR RIS AT gt =4

Explain the process of consumer’s
optimum choice with the help of indif-
ference curve approach.

e @ Rere s e w1 =
AR gy |

Derive long-run 'average cost curve
from short-run average cost curves,
Give reasons for the U-shape of long-

10

'un average cost curve. 8+2=10

IV NG W @ WS AR o1
T A tgae par ) Gfidl e W
U-Siigfon e ey fm |



()

0)

( 8)

Explain the behaviour of a profit maxi-
mizing firm in the short-run. 10

Discuss the rationale behind the
regulation of monopoly practices. What
role do antitrust policies play in
monopoly regulation? 7+3=10

SIEH JA FRFT TR FEgES! Al

1 RITH IO EgTs  PE-REE
TR & gt 7

D&scnbe the various applications of
elasticity of demand in economics. 10

gdifes o fsgeeer Rfsa e
¥ )

Explain how wages are determi i
L rmined in a
competitive labour market. 10

ﬁmm,Ww“ ﬂ‘ﬁ !

L
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